TRISEE %6 1 BRRAEHK S KEER A

<PVEBF>

K % fr B 70mD 70m®2 Ba Ey b 1045 X
114-Alf K BBE |FES 294 301 595 12 10 4
2|4-B|XE HBILE [TXKS 298 295 593 12 10 3
3[6-AlFO R FES 289 297 586 12 13 2
A 5-A[IKRE FF | TKS 281 299 580 12 11 4
5| 5-BlAall Bt [FES 284 295 579 12 12 2
6] 6-B|&HFT 1& FES 218 294 572 71 9 1
116-D|KIEE EFEES 216 285 561 12 8 0
8| 4-C|&R f#X |LKXS 295 259 bb4 12 10 2
9] 6-C M4 1E#: [IRES 280 266 546 12 3 2
101 4-D | Nig & IXKS 267 271 538 12 6 2
11|5-D[iE)Il =R |TKS 266 268 534 11 8 3
12[5-C|FJ)Il BX | TKS 235 201 436 6/ Ji 2

<VELZF>

K 4 il 70m® 70m2 7R Ey b 10 X
112-B|=E=H wRAFES 311 310 621 12 17 5
2| 3-AliE8 HwOdT KRS 290 219 569 12 9 3
| 2-AI=H i [BEES 215 216 551 12 6 1
A 1-AliB EE |FES 2174 271 551 71 6 1
5/2-C|I/hB HDYBEES 257 255 512 12 5 3
6| 2-D|IEH #F&H |TXS 259 249 508 12 5 0
N1-D|EAXR ZF [IUXS 269 232 501 12 6 1
8[1-B|KIE HE FES 248 239 487 71 5 0
9|3-B|ERH AFH [ILXS 244 242 486 12 5 2
10{ 3-C|E1h B¢ IXKS 249 233 482 12 4 1
1113-D[3*/ t BHIRES 210 236 446 70 4 0
12[1-ClaEll ¥ [WAS 208 178 386 70 0 0

<BEBF>

K 4 il 70m® 70m®2 =78 Ey b 1052 X
114-A[FEHE 4% [KRX 332 320 652 12 21 Ji
2| 6-A[&ZHA X [KEX 324 320 644 12 18 3
3|4-D | H snsf DAEXF 318 320 638 12 21 4
A[S-BI/MBEOEE [[EEXF 321 310 631 12 19 2
5/4-B AR FOfd [ KT XK 316 315 631 12 8 3
6] 4-C AT FAAER |FHEKX 311 310 621 12 11 5
115-D| &% #X | KEEX 308 311 619 12 13 2
8| 5-C|[HF H— (KA 305 310 615 12 16 4
9|6-B|ZEZHAE [[EEXFE 315 296 611 10 16 5
10| 6-C|HE K— [[pEgEX=F 297 312 609 11 13 1
11 5-A AL B— [EXER 308 300 608 12 18 6

<BELF>

K £ B 70mD 70m® Ba Ey b 1045 X
11-A[KRTHiLF DEEXFE 299 304 603 11 16 4
2| 2-C (B4  ARF (kLXK 284 280 564 12 8 3
3| 1-D|[BMERF [FEX 219 284 563 11 10 1
4{2-A AKX &FF [BFEX 265 216 541 12 8 2
5| 3-A [LUARFMF [BkILX 216 263 539 12 5 2
6] 1-B|*F& H3=E [YOYOSA 262 264 526 12 3 1
71 2-D |HKEEF |On-line 265 255 520 12 Ji 2
8|1-C|HF EF [FxX 231 216 513 68 6 2
9|3-B[iEEE HE [EEX 236 263 499 10 6 0
10| 2-B[/NE7FHZE [EEX 230 252 482 10 4 1
11[3-C|EREZEF |XF 258 219 471 10 1 1




